The next model of a sport car will cost 13.3% morethan the current model.
The current model costs $53,000 how much will the priceincreasein
dollars

$ 7, 049 istheincrease

increase = 13.3 % x $ 53, 000 = 0.133 x $ 53, 000 = $ 7, 049

17. In the United States, the Southeast is home to over half of the African American community. True

False

What is the most striking part of the Rutherford scattering stimulation?

Rewrite the formulafor the circumference of acircle C=2 /pi r in terms of its diameter d.Show your work please
Where isthe thesis statement usually located in a research paper?

Mixed economies . arerun by private enterprise

are run by the government

combine elements of traditional and planned economies

include some form of government economic planning

1. The horizonta distance between two successive crestsis called the . A Fetch
B Period

C Wave length

DWave height

2. Asthe speed and length of a wave decreases, the wave .

A Grows shorter
B Grows higher
C Moves backward
D Movesinacircle

3. Which tidal pattern has two high tides and two low tides each day



A mixed

B diurnal

C semidiurnad

D bidiurnal

Why was it necessary to develop writing before civilization could advance?

X+10=13

what isthe answser bc i dont under stand thisistooo hard if u know please tell me?

How many credits does it take to be classified as a tenth grade student and an eleventh grade student?

Which statement summarizes Victor's last words about the monster to Walton?

What is 27 minus 3.204 minus 10.8

Suppose that there are two types of tickets to a show: advance and same-day. The combined cost of one advance ticket and one same-day ticket is $35. For one
performance, 35 advance tickets and 30 same-day tickets were sold. The total amount paid for the tickets was $1125. What was the price of each kind of
ticket??

The process of selecting one thing over another or the appreciation of the significance of something is called . censorship creativity criticism evaluation
1. Measuring on an orthophoto, you find that the width of afive-lane freeway is 0.2 inches. Assuming that each lane in the freeway is 12 feet on the ground,
what do you estimate the representative fraction of the photo to be? Show your work.

How does maggie feel after her sister's visit?

Which of the following statementsistrue. A. All spontaneous processes are exothermic.

B. All non spontaneous processes are endothermic

C. All spontaneous processes release free energy.

D. Entropy aways increase in a spontaneous process.

The misplaced modifier in this sentence is confusing because it seems to modify which word? While driving to school this morning, a deer ran across the road.
Question 8 options: A) deer B) driving C) road D) school  Help!!!in

Can someone explain why this sentence is a personificatio: It was set on a high bluff,and on three side of it cliffs dived down to where the sea licked greedy lips
in the shadow.

1. Home
2. More Solution
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